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ŐĭĭİƗĔĪńĔļŃȮĝŋħĪňŗȮ1 
ŏĶŊŗŀĚȮŀĽĴĔŅĶŏĝŇĚŏĽƟĬĨńĺŐĮĶŏħňĵĺ 
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ěŋħĮĶŃĽĚėƢĔŅĶŏĶňĵĬĶŌƟ 

 
 

 

/, ĬńĔŏĶňĵĬĽŅĴŅĶĩĭŀĔœħƟĺƞŅĮĶŃőĵėŒħŏĮƦĬŀĽĴĔŅĶ 
2. ĬńĔŏĶňĵĬĽŅĴŅĶĩĭŀĔœħƟĺƞŅĮĶŃőĵėŒħŏĮƦĬŀĽĴĔŅĶŏĝŇĚŏĽƟĬĨńĺŐĮĶŏħňĵĺ 
1, ĬńĔŏĶňĵĬĽŅĴŅĶĩŏĕňĵĬĮĶŃőĵėĽńĠĸńĔļĦƢŐĪĬĮĶŃőĵėĳŅļŅœħƟ 
2, ĬńĔŏĶňĵĬĽŅĴŅĶĩŏĕňĵĬĮĶŃőĵėĳŅļŅŐĪĬĮĶŃőĵėĽńĠĸńĔļĦƢœħƟ 
5. ĬńĔŏĶňĵĬĽŅĴŅĶĩľŅėŜŅĨŀĭĕŀĚŀĽĴĔŅĶŏĝŇĚŏĽƟĬĨńĺŐĮĶŏħňĵĺőħĵĺŇīňĔŅĶŐĪĬėƞŅœħƟ 
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ŒĝƟŏĺĸŅŒĬĔŅĶİƗĔĪńĔļŃȮ4ȮĝńŗĺőĴĚ 
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ěŋħĮĶŃĽĚėƢĔŅĶŏĶňĵĬĶŌƟ 

ėŜŅĝňŘŐěĚ 

ĨńĺŀĵƞŅĚ 

 

 

 

 
 

ŐĭĭİƗĔĪńĔļŃĪňŗȮȮ/,/ 
ŏĶŊŗŀĚȮėĺŅĴľĴŅĵĕŀĚŀĽĴĔŅĶ 

 
 
ȮȮȮȮȮ 
 
 

ĬńĔŏĶňĵĬĽŅĴŅĶĩĭŀĔœħƟĺƞŅĮĶŃőĵėŒħŏĮƦĬŀĽĴĔŅĶ 
 
ȮȮȮȮȮȮȮ 
 

  ŒľƟĬńĔŏĶňĵĬıŇěŅĶĦŅĮĶŃőĵėĨƞŀœĮĬňŘȮĮĶŃőĵėŒħŏĮƦĬŀĽĴĔŅĶŐĸŃĮĶŃőĵėŒħœĴƞŏĮƦĬ 
ŀĽĴĔŅĶȮȮőħĵŏĨŇĴėŜŅĨŀĭĸĚŒĬĝƞŀĚĺƞŅĚȮ&ĕƟŀĸŃ 1 ėŃŐĬĬ'  

 

 

 

 

 

 

œĴƞŏĮƦĬŀĽĴĔŅĶ 

 

                     x + 5  =  8 
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ŏĮƦĬŀĽĴĔŅĶ 

 

                   2x + 6 < 9 

    1 

  2 

 3 

 

5x + 4  >  9 

 

                 2x + 2y = 15 

 

       
 ̧  

 4  

          5(x + 12)  ² 2x 
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5 

6 

7 

 8 

9 

 

4x + 7 ¢ 18 
 

 

 

         7x + 3x = 18 

 

     5(x ů 7)  ¢ 12 

 

       3(x ů 15) ̧ 36 

 

+ 9  =  25 
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ěŋħĮĶŃĽĚėƢĔŅĶŏĶňĵĬĶŌƟ 

ėŜŅĝňŘŐěĚ 

ĨńĺŀĵƞŅĚ 

 

 

 

 

 

 

 

 
 
 

ŐĭĭİƗĔĪńĔļŃĪňŗȮ/,0 
ŏĶŊŗŀĚȮėĺŅĴľĴŅĵŀĽĴĔŅĶŏĝŇĚŏĽƟĬĨńĺŐĮĶŏħňĵĺ 

 

 
 
 
ĬńĔŏĶňĵĬĽŅĴŅĶĩĭŀĔœħƟĺƞŅĮĶŃőĵėŒħŏĮƦĬŀĽĴĔŅĶŏĝŇĚŏĽƟĬĨńĺŐĮĶŏħňĵĺ 

 
 
 
ŒľƟĬńĔŏĶňĵĬıŇěŅĶĦŅĮĶŃőĵėĨƞŀœĮĬňŘĺƞŅĮĶŃőĵėŒħŏĮƦĬŀĽĴĔŅĶŏĝŇĚŏĽƟĬĨńĺŐĮĶŏħňĵĺȮ

ĮĶŃőĵėŒħœĴƞŏĮƦĬŀĽĴĔŅĶŏĝŇĚŏĽƟĬĨńĺŐĮĶŏħňĵĺȮ&ĕƟŀĸŃȮ1 ėŃŐĬĬ' 
 
 
 
 

10 
 

       3(x ů 2y)  <  3x 
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œĴƞŏĮƦĬŀĽĴĔŅĶŏĝŇĚŏĽƟĬĨńĺŐĮĶŏħňĵĺȮȮȮȮȮȮ
 

2x2ů 5 ² 0 

ŏĮƦĬŀĽĴĔŅĶŏĝŇĚŏĽƟĬĨńĺŐĮĶŏħňĵĺȮȮȮȮȮȮ
 

3x + 45 < 12 

1 

2 

 

 

2x ů 3  > 20 

 

   5(x ů y ) < 22 

 

        
(x ů 3)  ²  20 3 
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ŐĭĭİƗĔĪńĔļŃȮŏĶŊŗŀĚȮŀĽĴĔŅĶŏĝŇĚŏĽƟĬĨńĺŐĮĶŏħňĵĺĝńŘĬĴńīĵĴĻŉĔļŅĮƖĪňŗȮȮ3 

 

 
 

 
 

 

  
(x + 2) > 2(x ů1) 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

7 

8 

 

+ 5x ů 1 < 0 

4 

5 

6 

 

4(x + 1) ¢   5 

 

3(x ů4) ¢ 24 
  

2x + 3 ̧  6 
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ŐĭĭİƗĔĪńĔļŃȮŏĶŊŗŀĚȮŀĽĴĔŅĶŏĝŇĚŏĽƟĬĨńĺŐĮĶŏħňĵĺĝńŘĬĴńīĵĴĻŉĔļŅĮƖĪňŗȮȮ3 

 

 
 

 
 

ěŋħĮĶŃĽĚėƢ
ĔŅĶŏĶňĵĬĶŌƟ

ėŜŅĝňŘŐěĚ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

ŐĭĭİƗĔĪńĔļŃĪňŗȮ/,3 
ŏĶŊŗŀĚȮĔŅĶŏĮĸňŗĵĬĮĶŃőĵėĳŅļŅŏĮƦĬĮĶŃőĵėĽńĠĸńĔļĦƢ 

 

 

 

ĬńĔŏĶňĵĬĽŅĴŅĶĩŏĕňĵĬĮĶŃőĵėĽńĠĸńĔļĦƢŐĪĬĮĶŃőĵėĳŅļŅœħƟ 
 
 
ŒľƟĬńĔŏĶňĵĬŏĕňĵĬĮĶŃőĵėĽńĠĸńĔļĦƢŐĪĬĮĶŃőĵėĳŅļŅĪŅĚĞƟŅĵĴŊŀőħĵŏĨŇĴėŜŅĨŀĭ 
ĸĚŒĬĝƞŀĚĺƞŅĚȮ&ĕƟŀĸŃȮ1 ėŃŐĬĬ' 

ĕƟŀ ĮĶŃőĵėĳŅļŅ 
ĮĶŃőĵė
ĽńĠĸńĔļĦƢ 

ĨńĺŀĵƞŅĚ ěŜŅĬĺĬěŜŅĬĺĬľĬŉŗĚĶĺĴĔńĭľƟŅĴňėƞŅœĴƞŏĔŇĬĽŇĭ x + 5 ¢ 10 
1. ĽňŗŏĪƞŅĕŀĚěŜŅĬĺĬěŜŅĬĺĬľĬŉŗĚĶĺĴĔńĭľƟŅĴňėƞŅĴŅĔĔĺƞŅĸĭĽŇĭ  
2. ĽŅĴŏĪƞŅĕŀĚěŜŅĬĺĬěŜŅĬĺĬľĬŉŗĚĸĭħƟĺĵĽŅĴĴňėƞŅĬƟŀĵĔĺƞŅĽŇĭľƟŅ  

9  

(x ů 3) ̧  14 

10  

3(2x + 6)  ̧3y + x 
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ŐĭĭİƗĔĪńĔļŃȮŏĶŊŗŀĚȮŀĽĴĔŅĶŏĝŇĚŏĽƟĬĨńĺŐĮĶŏħňĵĺĝńŘĬĴńīĵĴĻŉĔļŅĮƖĪňŗȮȮ3 
 

 
 

 
 

ěŋħĮĶŃĽĚėƢĔŅĶŏĶňĵĬĶŌƟ 

ėŜŅĝňŘŐěĚ 

3. ŏĻļľĬŉŗĚĽƞĺĬĽňŗĕŀĚěŜŅĬĺĬěŜŅĬĺĬľĬŉŗĚĶĺĴĔńĭĽŇĭľƟŅĴňėƞŅœĴƞĬƟŀĵĔĺƞŅ
ĵňŗĽŇĭ 

 

4. įĸĭĺĔĕŀĚľƟŅŏĪƞŅĕŀĚěŜŅĬĺĬěŜŅĬĺĬľĬŉŗĚĔńĭĸĭĽŅĴĴňėƞŅĬƟŀĵ
ĔĺƞŅĽŅĴĽŇĭľĔ 

 

5. ľƟŅŏĪƞŅĕŀĚįĸĨƞŅĚĕŀĚěŜŅĬĺĬěŜŅĬĺĬľĬŉŗĚĔńĭĽŅĴĴňėƞŅœĴƞŏĔŇĬĵňŗĽŇĭ  

6. ĽŅĴŏĪƞŅĕŀĚěŜŅĬĺĬěŜŅĬĺĬľĬŉŗĚœĴƞŏĪƞŅĔńĭĸĭĽŇĭĽŅĴ  

7. ĽňŗŏĪƞŅĕŀĚěŜŅĬĺĬěŜŅĬĺĬľĬŉŗĚĴŅĔĔĺƞŅĽŅĴŀĵŌƞœĴƞŏĔŇĬĽŅĴĽŇĭľĔ  

8. įĸĭĺĔĕŀĚěŜŅĬĺĬěŜŅĬĺĬľĬŉŗĚĔńĭĽňŗŏĪƞŅĕŀĚěŜŅĬĺĬĬńŘĬĴňėƞŅĴŅĔĔĺƞŅĵňŗĽŇĭ  

9. ŏĻļľĬŉŗĚĽƞĺĬĽňŗĕŀĚěŜŅĬĺĬěŜŅĬĺĬľĬŉŗĚĭĺĔĔńĭĽŀĚĴňėƞŅœĴƞŏĪƞŅĔńĭ
ĸĭĽŇĭĽŀĚ 

 

10 ĽňŗŏĪƞŅĕŀĚįĸĨƞŅĚĕŀĚěŜŅĬĺĬěŜŅĬĺĬľĬŉŗĚĔńĭľƟŅĴňėƞŅĬƟŀĵĔĺƞŅĵňŗĽŇĭ  
 
 
 

ŐĭĭİƗĔĪńĔļŃĪňŗȮ/,4 
ŏĶŊŗŀĚȮĔŅĶŏĮĸňŗĵĬĮĶŃőĵėĽńĠĸńĔļĦƢŏĮƦĬĮĶŃőĵėĳŅļŅ 

 
 
 
 
 

ĬńĔŏĶňĵĬĽŅĴŅĶĩŏĕňĵĬĮĶŃőĵėĳŅļŅŐĪĬĮĶŃőĵėĽńĠĸńĔļĦƢœħƟ 
 
 
ŒľƟĬńĔŏĶňĵĬŏĕňĵĬĮĶŃőĵėĳŅļŅŐĪĬĮĶŃőĵėĽńĠĸńĔļĦƢĪŅĚĞƟŅĵĴŊŀőħĵŏĨŇĴėŜŅĨŀĭ 
ĸĚŒĬĝƞŀĚĺƞŅĚȮŏĴŊŗŀĔŜŅľĬħŒľƟȮx ŐĪĬěŜŅĬĺĬěŜŅĬĺĬľĬŉŗĚȮ&ĕƟŀĸŃȮ1 ėŃŐĬĬ' 
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ŐĭĭİƗĔĪńĔļŃȮŏĶŊŗŀĚȮŀĽĴĔŅĶŏĝŇĚŏĽƟĬĨńĺŐĮĶŏħňĵĺĝńŘĬĴńīĵĴĻŉĔļŅĮƖĪňŗȮȮ3 
 

 
 

 
 

ĕƟŀ  
ĮĶŃőĵė
ĽńĠĸńĔļĦƢ 

ĮĶŃőĵėĳŅļŅ 

ĨńĺŀĵƞŅĚ  5
2x  ²  30 ĽŀĚŒĬľƟŅĕŀĚěŜŅĬĺĬěŜŅĬĺĬľĬŉŗĚĴŅĔĔĺƞŅľĶŊŀŏĪƞŅĔńĭĽŅĴĽŇĭ 

1.  x ů 3 < 5      

2.  7x ů 4 > 3  

3.  2(x + 10)  > 23  

4.  3
2x  >  25  

5.  2(x ů 3)  ¢  20  

6.  3
2(x ů 1)  ̧  10  

7.  x + 5  ²  x + 2  

8.  3x ů 1  ¢  x + 4  

 

ŐĭĭİƗĔĪńĔļŃĪňŗȮ/,5 
ŏĶŊŗŀĚȮȮėŜŅĨŀĭĕŀĚŀĽĴĔŅĶŏĝŇĚŏĽƟĬĨńĺŐĮĶŏħňĵĺ 

 
 

 
ȮȮȮȮěŋħĮĶŃĽĚėƢĔŅĶŏĶňĵĬĶŌƟ 

 

ĬńĔŏĶňĵĬĽŅĴŅĶĩľŅėŜŅĨŀĭĕŀĚŀĽĴĔŅĶŏĝŇĚŏĽƟĬĨńĺŐĮĶŏħňĵĺőħĵĺŇīňĔŅĶŐĪĬėƞŅœħƟ 
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ŐĭĭİƗĔĪńĔļŃȮŏĶŊŗŀĚȮŀĽĴĔŅĶŏĝŇĚŏĽƟĬĨńĺŐĮĶŏħňĵĺĝńŘĬĴńīĵĴĻŉĔļŅĮƖĪňŗȮȮ3 
 

 
 

 
 

 
ȮȮȮȮȮėŜŅĝňŘŐěĚ 
 
ŒľƟĬńĔŏĶňĵĬĨĶĺěĽŀĭĺƞŅėƞŅĕŀĚĨńĺŐĮĶĪňŗĔŜŅľĬħŒľƟŏĮƦĬėŜŅĨŀĭĕŀĚŀĽĴĔŅĶŏĝŇĚŏĽƟĬĨńĺ

ŐĮĶŏħňĵĺľĶŊŀœĴƞ (ĕƟŀĸŃȮ2ȮėŃŐĬĬ' 
 
 

 

ĨńĺŀĵƞŅĚ x + 2 < 5ȮȮŏĴŊŗŀĔŜŅľĬħŒľƟȮȮx = -3 
 ŐĪĬėƞŅȮȮx  ħƟĺĵȮȮ-3   
 ěŃœħƟ (-3) + 2 < 5 
  -1  < 5  ŏĮƦĬěĶŇĚ 
 ħńĚĬńŘĬ  -3 ŏĮƦĬėŜŅĨŀĭĕŀĚŀĽĴĔŅĶ 

 

 

 

 

 

 

 

 

/,ȮȮy + 7 > 12ȮȮŏĴŊŗŀĔŜŅľĬħŒľƟȮȮy = 8 
................................................................................................................................... 
................................................................................................................................... 
................................................................................................................................... 
................................................................................................................................... 
................................................................................................................................... 
................................................................................................................................... 
................................................................................................................................... 
................................................................................................................................... 
................................................................................................................................... 
................................................................................................................................... 
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ŐĭĭİƗĔĪńĔļŃȮŏĶŊŗŀĚȮŀĽĴĔŅĶŏĝŇĚŏĽƟĬĨńĺŐĮĶŏħňĵĺĝńŘĬĴńīĵĴĻŉĔļŅĮƖĪňŗȮȮ3 
 

 
 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

0,  3x ů 15 < -5ȮȮŏĴŊŗŀĔŜŅľĬħŒľƟȮȮx = 5 
................................................................................................................................... 
................................................................................................................................... 
................................................................................................................................... 
................................................................................................................................... 
................................................................................................................................... 
................................................................................................................................... 
................................................................................................................................... 
................................................................................................................................... 
................................................................................................................................... 
................................................................................................................................... 
3.  y + 6  ²  -4 ȮŏĴŊŗŀĔŜŅľĬħŒľƟȮȮx = -4 
................................................................................................................................... 
................................................................................................................................... 
................................................................................................................................... 
................................................................................................................................... 
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ŐĭĭİƗĔĪńĔļŃĪňŗȮ/,6 
ŏĶŊŗŀĚȮȮėŜŅĨŀĭĕŀĚŀĽĴĔŅĶŏĝŇĚŏĽƟĬĨńĺŐĮĶŏħňĵĺ 
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ěŜŅĬĺĬŏĨŖĴĬŃěƠŃ 

 


